EB ARl
& KAR3 35 26 61
HBA 25 19 44
=5 26 15 41
B9 10 13 23
BE%E 10 10 20
BZE 6 9 15
Za b 10 4 14
i Th=¢ 7 3 10
EHE 10 0 10
-/ 3 4 7
5 ACHR 4 2 6
BARK 4 2 6
BAE 3 2 5
Cp o 4 1 5
B3 3 2 5

x8 M A
HRGR 2 2 4
e 2] 2 2 4
P ] 2 2 4
JRRETE 3 1 4
e 0 3 3
Z D 15 8 23
& Ft 184 130 314
(ZDfh NER £1~35R)
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EB ARl
& KAR3 30 27 57
HBA 31 23 54
=5 27 26 53
BE%E 17 19 36
Za b 12 11 23
i Th=¢ 9 8 17
BT 8 8 16
EHE 6 9 15
BAE 6 5 11
5 ACHR 1 8 9
BZE 2 5 7
B 3 3 6
-/ 2 4 6
BARK 5 1 6
HRGR 3 2 5

X8 M A
B3 2 3 5
JRRETE 4 1 5
P ] 3 1 4
SEfCKE 2 1 3
EEE 1 1 2
Z D 16 7 23
& & 190 173 363
(ZDft NER &1~288)
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